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Part- III 

ECONOMICS 

Maximum: 80 Scores 
Time : 2 ~ Hours 

Cool off time : 15 Minutes 

General Instructions to Candidates : 

e There is a 'Cool off time' of 15· minutes in addition to the writing time of 212 hrs. 

• You are neither allowed to write your answers nor to discuss anything with 
others during the 'cool off time'. 

e Use the 'cool off time' to get familiar with questions and to plan your answers. 

e Read the· questions carefully before answering. 

e All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from the 
same question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

e Malayalam version of the questions is also provided. 

e Give equations wherever necessary .. 

e Electronic devices except nonprogrammable calculators are not allowed in the. 
Examtnation Hall. 

ml (beg~ CI06UT3 db: 

. • m1iD'J1mJs crumwcom1m CLJ6o6lm 15 o:Hm18 'cm~cJO 630o.d' 6l6lso' ~6'115omf\ro1c006o. g;Q'D 

crumwcm) ~ilJOB~60BcJ6cOO' ~comroo nffi'::P6©:::>c&mo, al86§§.0Jro6mom51 ®])(f{)CQJ o.Jlm1mwo 

ffiS(OYO)Oc&ffiO CLJOS1~. 
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g;Qe.Jcfu'~LS061Tl1cmu ~CLJc£h(()61TJ0J6o CLJro"ldhl:!OnD0§.1ctm ~CLJC8CQJOW1c0060JOcfO CLJOS~. 
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1. Give a suitable term for the given 

idea. 

"Moving of workers from self­

employment to casual wage work." · (1) 

. 2. The Government of India: recently · 

decided to sell the shares of 

Hindustan Copper Ltd. (HCL), a 

Public Sector Undertaking. 

Do you think of it as a form of 

privatization? Name its other 

forms. (3) 

3. You have been included m a 

committee of experts to suggest 

measures to transform the vast 

human resources of a country into 

human capital. What may be your 

suggestions? 

4. While preparing a· frequency 

distribution; your friend 1s 

confused about inclusive and 

exclusive classes. He~p her to 

distinguish between them, with 

(3) 

examples for each. (4) 

5. "Watching the reactions of th,e 

respondent 

supplementary 

can provide 

information." 

·Identify the mode of data collection 

mentioned here. 
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1. 6l c:fu o s 6 @'Ol1 ro 1 <006 rm 1'G'@ CJll w @'Ol1 m u 

®Offi.!,<ZCQJO[t£j())OCQJ oJBo c:fu6l6®®iJl.!,c:fu. 

"cruJWo 6)®o<}1m'O 6JDJ~6rmOJro1m'O m1rmc~o 

c:fu 4 eJ1 tOO 6 oJ sml w 6 rrn OJ ro 1 a; eJ tOO 6 §§. 

6l®0<}1eJO§lc:fu§66lS Q)Of)o" 

2. rsoro® crufOtOOoiD 6loJ0®6 <Zm6lleJ 

cru.o o oJ m m o w nn1 m 6 cru.o o dO a: c:fu o c;d ill 

eJ1m1f)CW16lc~ (HQL) 63onnco1c:fucill 

g)2 ®u 63 (0 6 (()) (0 0 cru J c:fu 8 (0 j OJ (0'0 d}6) ([) 6lTJ ()) 0 61TJU 

n(j)(ffiu m166Bcill c:fuffi6®6(ffi2,<li6®8? 

cru J c:fu 8 co j OJ m'O t00 co sm <01W16l «fl m Ru rD: ®'l c:fu cJD 

ci@6l®~Oo? 

3. 63ffi.!, ffi8[t£j6l<<ITID OJ'l(Jl)OeJQ)OCQJ Q)ffi6cU:Ij 

oJl@OJ66B@§ Q)ffi2,cU:Ij Q)~eJWffi())8t000ffi2,§§. 

aJ8iDe&6l!Bcill m'lilla:<](fl)'lt006rm®'lm6§§ 63ro6 

cruaJ'l®1w'lm'O m166B6l§ 

~cJDG>~ S2,®iJl1 w1 ro1t002,ffiJ6. · m160B§.!,6lS 

m1 iDa: <3 CJl) 66B cJil n(J)G> C'rOl ~ o aJO cWlro1tOO 2P. 

4. <1ll0 OJ ~ C010l1 OJ1 ® ro sm <OlW 16> «fl ro ~ oJi c:fu ro sm 

(T\)Q)CQ)(QlO)u ffi'l6ilB§J,6lS c£h~§2,c:fuO(l)Jt00u 

g)2 ®~4 cru"lOJU- n(J) cfu'm) ~~ cru"l OJU OJ f0e&61JB6l § 

ffilo6Y2J m.Ul.g,l ffilo(Jl)CQJo ~6ml0c:fu6ffiJ6. ~OJ 

®1111l1eJ.!,§§. OJjcpljOffilo ~B:JnDrosm ffilnD1®o 
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(1) 

(3) 

(3) 

c:fu~c:fuOffitcOO' QlmCTD1eJOt001 6lc£hOS.!,tOO.!,c:fu. ( 4) 

5. "OJ10.J ro BOBOOJ'l6lctrJ LoJ®1cfuro6m61JBOO 

c:fu o sm 6 c:fu OJ ':P'l arro m 6 6YlJ ffiJJ OJ1 OJ ro 6lJB cJil 

~oJ16ls truJ,.0l;J.!bnro1t006rm B®iJl a:(Jl)6lJrosm 

ro"l®1 Cl{B®0611i? (1) 



6. Heights of 10 plants in a garden are 

given below. 

:-----~----r I 

i Plants I 1 I 2 3 , 4 i 5 • 
~~~---+·---+----j----- +----+----t 
I Height 

1 

i 10 18 20 25 30. 
~ncm) 

a) Find the mean height. 

b) State the interesting property of 

A.M. 

7. "The farmers of Kerala are now 

getting fair prices for their 

products through 'Vipanies' (Co­

operative marketing)." List the 

other measures initiated by the 

Government as a part of the 

agricultural marke·c system 1n 

(3) 

Indift. (3) 

8. Choose the correct boxes to suit the 

ideas given in (a) and (b). 

a) Noncommercial energy sources 

b) Nonconventional energy 

1. I Coal, Petr~leum, Electricity I 
L.___ _____ ~------

~ 
I 2. ! Solar, Wind, Tidal 

L ____________ _ 

3.1 Firewood, dri~d dung, 

6. 63<ll6 o.JJCllmDO§(QY5)16)eJ 10 6)-'l.JS1c£h§_J,6)S 

~CW<lJ60BcJ0 ®06!':9 6)c£h0S6(0®1<ll1cf)-6)2,rrD6. 

6 

32 

l 
I 7 8 9 '! 10 

35 I 40 45 50 

I. 

a) ffilQlOmYl<ll QlOW~ ~CWCDo c£h06TD6c£h. 

b) ffilQlOmYl<ll CDOW~(Q®t6)CVl <ll<YDc£h<lJQlOCW 

LClJ Cll®~.m® %")':9 6®6c£h · 

7. " (Jl cB:, (() §. (0®16) eJ cB:, iO o3:l cB:, ro cf)-6)u g:Q (Jl <;d 0 cffi 

'o.Jin..J61D1' .mcffi ru<fl ( <mnDc&.><ll6m o.JiiLJ61Dmo) 

amJ ru ro 6 6) s ~ <'6n <;d em 60B cin cf)-6)u m ~ OJ1 eJ 

.m1§6rm,s." 

.m o & mf1 cfr> ru1 n..J 6m m o 6) Ql ~ 6) <;d s 6 (0® o c& 

<SO<ll® crurocf)-6)oro 6)c£h06n560Jrm1§6~ alrr 
moffi<:&60Bcffi omru? 

8. (a), (b) nq;rm1rumfl~ m~ce:,1mflro1c.eul6rm 

c9:>0roj60BWcBti) amlm6<ZCW0@6~QlOCW c£h§_60Bcffi 

1, 2, 3 n{j)rrD1rum5l~ m1rm6o c£h6)6n5(Q®J,c9:>. 

b) o.JO(()ffiJCJl(()~®<ll ~ro&~o. 

1) I c9:>~<00all, 6)o.JGlLSOW, 6)6)0J8~®1. 

~ . 
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(3) 

(3) 

9. 

i agricultural waste I 

' J 

Tell your friend of the Science 

stream, why you learn Statistics 

along with Economics. 

(2) I . 
9. 

3) 1 o.Jiocfu', ~ 6mcf)-6) -'l..1 o 61Dc9:>o, 1 

I cfuo&nS:Jl ce:, amJru uo1n:d's~ ( 2) 

ffi) 0 ffiJ (()10)1 c9:> C/0 0 <YDul (0) (0®16) m 0 <;d 0 m160B cffi 

(2) 
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~~~p R1 cruuR1.mumJJ, o.J o1 <006cm®16)cm 

ce:,oroGm60Bcffi a:ucwcmml' <@30cru1~ o.Jo1<006cm 

m16liBm6)s c9:>J§6c9:>0ill1GCWOS o.JOCWJ,cfu. (2) 

(P.T.O.) 



10." Pick out the feature of Indian 

economy with respect to the 

occupational structure during the 

British rule. 

(High mortality rate, growmg · 

regional variation in work force, 

generation of large export surplus, 

take root of modern. industries). 

· 11. Your Economics teacher 1s 

planning to form an econom1c 

association in your school. She has 

to select a convener from two 

students. The criteria for selection 

is the consistency in marks of five 

class tests in Economics. The marks 

are: 

I Class tests 
' 

1 2 

Jyothi 40 
I 

.38 
I 
i 

Amrutha I 
I 

38 
' 

Who will be selected as the 

convener? 

(Hint: State the answer by finding 

40 

(1) 

I 

I 
I 

SD and CV). (8). 

OR 

Prepare a seminar paper on the 

various absolute and relative 

measures of dispersion. 

12. You are selected as an official to 

assess the health status of Gambia, 

an African country by the WHO. 

Point out the indicators which you 

use for such as assessment. (3) 

K-33 4 

10. 

11. 

3 

l6W 3'1 o.'l:f @ (() 6(D cBo 0 eJ 6) ®Q) ~aD Qi) ~ CQJ16) eJ 

6)®0<i'1cW oJ<llOJOCQJ o.eJ s m CQJ 6 OJ o cw'l 

6W ffiJ.) 6) <;.8 3 l oJ a: ®~c:Bo (Q) cfr, 6) 6'fl'S (Qilj) 6 cfr, . 

(@.CQJ/Ocm ffi(f(lj(l)(Q) 'I u m,<llcS€), 6) (Q) o<i'l d'6 

(f(l &m1 CQJ1 am (L]~<ll6cm loJO<l:B(f(l1c:Bo 

ru~ @1 CQJ om o, ru cfO c:BoCQJR6 m ®1 ml9z1 ®Q)16) c(is 

cru ~ os:l" s1 , @'@ w 6 m1 cBo (L] ~ (L] Cl\) 0 CQJ 61ffi ~6 6) s 

ffi'@Cllo<So). 

m16m3~66)S Cl\) 0 mJ ®Q)1 cfr, CJl)() cnlul@ 

®U GD ~on.Jl cBo Cl\)u cfr,~~1 ®J 63 (l) 6 < Cl\) OmJ ®Q)1 cfr, 

®U a: cru o cru1 a: CQJ o9::l cfO ' @. 6'fl'S o cOO 6 em 6 . (l) 6'fl'S u 

ru1B~oi0aru::!1d3o~1am m1cmc~o 63<ll08~ 

cBo 6!10 oJ'l m o o CQJ1 6) @ (l) 6) 6'111® s 6 c9€) 6fD o • 

cruocru W®1 cfr, (f(l om) l @®Q)16) eJ ®U 61QlJ ooom) 

oJ<lllcfu:':1~cillcOO' mo/Oc9€)1am cru.o1Cll@ a:ms1CQJ 

@'@ ~o CQJl Cll1 c9€)6fDo cBo 6!10 o11 m iO. 

OJO/bc9€)6c:BocJIJ: 

5 
I 
I I I 

I 

I 4 

i 45 

I 
40 37 I 

I I 
I 

43 135 
I 

49 
I I 

I I 

c:Bo611'6 o11 moo m5l ((l'@ 6) (l) 6)@ ro 6)6'111® s 6c68 6 o ? . 

( cru J.2.! m : S D , C V c.tl) cm1 ru cBo 6) 6'fl'S (Q'(O)r 

@.®Ol (() 0 Cl{j) <i' 6 (Q) 6c:Bo) 

m1 ro a: oJ cW:1 ru 6 o ffi'@ a: oJ cW:11 cBo ru 6 OJ o CQJ 

ru~ o oJ m ®U ~ ru 6c:Bo£l ~ cru o 6W ffiDlsl 63 <ll6 

6)cnlOJ1mo& <lloJ<;i:J& ®~OOOc9€)6c:Bo. 

12. 63ffi6 ffi'@Lo.01c9€)cf0 room~OJOCQJ CDOom!lCQJC\2f16)eJ 

(G'@)G:<llO(f)~ ffio(f)o o.J1eJCQJlffi6<0iOI0ffi6~ 63ctl6 

@.G:B~OCDcru.o m 0 m5l m161ffi6)~ G: eJ Ocfu @'@) Cl <llO(f) ~ 

cruoo.e.Jsm 6)@ffi6)6'11J®S,J,®m6. 

ru1 eJ CQJ1 Cll 6 ®m eJl m o CQJ1 m161ffi cJil 

@. oJ G: CQJO CD1 cOO 6 em cnl ~!lJ c6o 61ffi CJD Cl{j)6)mD~ Oo 
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. (1) 

(8) 

ffi'@ mil ro1 c9€) 6 o. ( 3) 



13. :\fake four pairs from the following 

(Dadabhai Naoroji, NABARD, social 

medicine, National Planning 

Commission of India, poverty line, 

the official data on poverty, rural 

finance, spread of health literacy). 

a) 

b) 

c) 

d) 

14. You are asked to conduct a survey 

regarding the role of the National 

Rural Employment Guarantee 

Scheme in eradicating poverty in 

Kerala. 

a) Which method would you use to 

collect data : census or sample? 

b) Suggest any two merits of that 

method. (2) 

15. Athira plotted the values of two 

variables X and Y in a scatter 

. diagram as follows. The nature of 

correlation here is ............ .. 

Y[ 

0 

a) Perfect positive 

b) Perfect negative 

c) Positive 

d) :\egative 

K-33 

(1) 

5 

13. COJ:}6l'9 6lcfuOS6mm1ro1c006<mrumflam m1cmz,o 

m o.e.r <E i!IJ o cw1 cfu 6l §. L <TD o'lr s1 c00 6 cfu. 

( BOB:)ISOcW mol<llO:)~, ffi6n.JOiOcul, <TD:)Ql~nDJ 

@ 'D crlKlJo, ISOro®miD16l eJ <ll B uoi CQJ m@I<TD ~l ®61TJ 

cfuall:Jicrl:ldO, · Goro1LB~ <Ero6l.J,. BOro1LBJ6lmiD 

<TDo6ru<TUJl-8.:J @'DClBJOCJ)1cfu BmiDo, l(J)0Qli61TJ 

WfficfuO(Odo, m@I<Jl(O:)CJ)d <TD0dhl:l(O®CQJ2,6lS 

OJJ:}oJffio ). 

;;t) 

'o) 

c) 

d) 

14. Clcfuro§.miD16leJ B:)ro1tBJ m1&mo&~mmm1am 

<EBCJOiCQJ 6l®0<9leJ60<J::r oJBD®1W66lS oJa:b" 

nmcm ollcrl:l wmm1 am @(06 <TDiOCl<)d msmmo<il> 

m16m3Cl§.OS m@OJCJOJ6liliS6tm6. 

a) BmiD <llCJ06l.Jro61Tlmm1m" m16mffil 

®Cl OJ eJ o6ru1 cOO 6 em Ql:) iO <& o c:@ ®"-

6l<TD<fi><TD<llGUO, <TD:)mJ Cl §.0 ? 

b) LoJcru®6® Ql:}ffi<&mm1~ · c:@6l®a:n1eJ.J,o 

526 

(4) 

ro~ (1)6 61TJ6m un nm '96 ®6cfu. ( 2 ) 

15. m©®1ro X, Y nffi<mi .!Llro6ID3§.66lS alJeJJ6UBffil 

@(06 LoJ cfu "l & 61Tlm ill1L®mm1 am ®06l'9 

cfu:}61TJ1..g,[ho1 cOO 6 o ell oJ:) 6l eJ <ll ro 6lJ 6l ili s 6 mm1. 

c:@ciD ®roo <TUnD6ruCTUlQl061Tl1®? 

y 

0 

a) oJ~ffiGJ;lrl <lloJOm5lfi"lol 

b) oJ~iOGJ;lrl 6)ffi(J)fi"lol 

(1) 

(P.T.O.) 



16. While participating in a debate, 

your friend says, "The introduction 

of the railway in India by the 

British is one of their important 

contributions." Express your view 

with justification. 

17. While explaining the parts of a 

table, your teacher says, "It 
n_arrates the content of the table. 

It has to be very clear and brief." 

Identify the part of the table 

mentioned here. 

18. "Globalization is a strategy of 

developed countries to expand 

their markets in other countries." 

Do you agree with this statement? 

(2) 

(1) 

Justify. (2) 

19. The marks secured by 60 students 

in an examinlltion are given below. 

16; ero2, ()J)1<lim.JR1m'D o.J6lffuS2,COIOl,J,6lcfu0611'Sv 

ml61lB~J,6lS cfu~§6c&oml 0.Jocw,;rrn,;, 

' um.fl §"l riliv cfu 0 ro @ 0 (() (lj) ®1JJ) am 6) 0 cw1 am Cl QJ 

6lcfu06frSJ,QJmJ@ am:ruro,;6ls o.@RQJ2,o m~ 

ero,; cruo<Sorumcwo6m".' m161lB~,J,6lS 

<li (l) 6)J 6l<;lj s ,l,COTOl,!, cfu. 

17. o.J§1cfuCWJ,6lS @0(1)61lBcfb o.J01~~2, 

6l c& o 6fr51 ro1 rB6) 6 Cl m.J o cfb ®Ci BD,) o n.Ji ceo , 
"~®v o.J§lcfuCWJ,6lS @_~SrBG)o cfu06m1d76)JrrD,J,. 

~®v QJ~6)(() ClJ,)c&®QJJ,o 6).!2JO,J,®,J,o 

Cll@WlCll1rB6)6mo.'' 

~Cl.l16ls cruJ.2ft~~_gjcC'c%!;rrn o.J§1cB:>orsomo 

0-@®061)')? 

18 "mrm ClCDO~ QJ c&icOOIU6TC o oJ) rrD®v mRV 

(l)0@6,)61lB~1~eJo%iv CiiTS§l61S QJ1nJ6m1 

Cll0@6,)Gm3~2,6lS @CD~ :c! J'(!) 11'0611-r_" 

~ ra am: <S1l o.J o cw Cl C010l o so m ~ 6GB C)Zl 

<ll cw o m1 rBG) 6 on 6 Cl6fr5 o ? @. C010l roo 
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(2) 

(1) 

ffi,)Oml'ldbro1rBG),J,cfu. ( 2) 

19. eroz, ~ocru16leJ 60 cB:>J,§1cB:>cfb I£CD6 

o.Jro"\dhl1cuJl<lffi <lims1cw mororBG)J,cB:>cib ®06l':l' 

6)cfuOSJ,COIOl1 rolrBG!,!,rrhJ, . . 

Marks 0-10 10-20 20-30 30-40 40--50 50---60 

No. of 

students 
2 9 

a) Prepare the schedules for less 

than and more than ogive. 

b) Draw them. 

c) LocaLe the median graphically. 

20. "Many developed countries were 

finding it difficult to maintain a, 
growth rate of even 5%. China was 

able to maintain a near double-digit 

growth for more than two decades." 

Can you point out the main 

strategies adopted by China to 

(5) 

attam this? (5) 

K-33 

14 20 10 5 

a) eJClf:'J,l, cru61!?2J'l® - CJ),J,m,; cru61!?2J1® 

o.J§1 c&c& cib ®CID oooc00 ,J,c&. 

b) am:ru .2JiL®"lc&m1cOO,l,cfu: 

c) .2JiL®®ID16le.J illl()J)1CWcm cfu6l6TlS\iJ1"C:~:&:. 

2{). "al1c00 nJld'bcru1(()) mom,)61lB~o ClcBoC'L':'..o 6So 

ru~&4J.o m1mcOOV 6l6lcBoru£ :rn--;,;ruoc!ll 

Lo.JCWOffil6l<;ljS,J,<liffiJOOO, (()~ BU?::JmJB<OrO!tafil 

c&~S2,®m'D c&oe.Jo ro6TlScOO ru~ro~o 

crllmc001mS,J,amD 6l6lc&ruaJlrBG)ocf!l 6!6l.2JmwrBG) 

cfu <91G®ID 6· " 
~'D <liffi§o 6l6ld3oQJffi!rBG)OM 6)6).2Jffi 

cru Jl c& ro 1-'?zl, rul ru'1 w ® L mil 6llB cib 

(5) 

m>~.2ll\'JicOOJ,cfu. ( 5) 

6 



21. Complete the table. 

' Sr. 
I 

);"arne of the l.T ses of the Index X umber 

I i\o. Index Number 

1 mmJfo 
I . 

~nJG:CQJ:J(I)o 

I L 

1

00 00 BOO 

Wage negotiation, formulation of income arid price policies, 

taxation etc. 

I I 

120 ~ HO HOOHOH 

emJell m1ill6;(MCQJo, a:rucmm mCQJo, m1emJ,®1 mCQJo, oJleJ mCQJo, O{j)Cffi10JCQJ2,6)S 

CO Jo..fl emro 6ffio. 

Measure of the rate of inflation 

nJ 6ffi6)\t:J COJ,'J:j @rn16)qq m1 coc£t6) em6ffid36):Jc66)am 

22. "During the colonial rule there was 
neither growth nor equity in the 
agricultural sector." 

a) Name the two measures. 
adopted by the policy makers of 
independent India to resolve 
this. 

b) State the features of any one. 

23. The concept of sustainable 
development is getting importance 
today. Can JOU prepare a seminar 
paper on the various strategies of 

(3) 

sustainable development? (8) 

22. "<&emo~m1 OJ9cf.<:lJc66)0eJ@rnu ~®CW,)ciD 

I 23. 

emOill n.9:11 em G: Ql6lJ eJ CQJl am Cu ~ill.!?z! G: CQJO, 

®J,eJ,)®<&CQJO ~omJlroc~cmc~.'' 

a) ~m·r oJco1nDcolc66)2,Cffitm1momJl cruJcmcrrm 

~ rrm,)CQJ16)eJ <S co Gm ow1 emo col em c/0 

cru 1l em col_gd co6l'li msnJ sl em cJO 0.@ ru ? 

b) 0.@6)®1fb1eJJ,o 63cmi@<Vl lnJG:®,)em®emcJC 

O{))':?J,®J,em. 

cruc~m5'cm1co 0Jlemcrumo nB)cm® ~err) Q@@O 

lnJOWOffi,)o <&mS16)c66)06nslC01d36)J,Cffi 63(()2, 

(\j@l (}() CQ) Ql 0 6ffiu. ffi) 6 ffi)u ®1 (() ru1 em riu m 0 

m.JOBD,)Ql0c66)6Cffi®l OJJ,~ Ql Oill<{266B6)~-

c66) 2, olg,l cril66B ci/Jc£t6) 63C02, 6)ffi.l all moill <& nJ 'J:l ill 
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(2) 

(3) 

OR 
®(_ill008c66)0G:Ql0? ( 8) 

24. 

Prepare a report· regarding the 
challenges in India's environment. 

The ranks given by two judges to 
the SIX participants of the 
Kuchipudi competition m the 
Subdistrict School Kalolsavam, 
2012 are 

I Judge I 2 
~~-----~------~-

1 

mm6l~a»1am 

~ciDCW,)W2,@S nJ.co1ffilJJ1®1 a:mrolsc~cm 

6) ru~2, oJl ~1 em@~ cruo6YlJ m.ul?zr 63C02, o1 a: 'J:l oill§ 
®(_ill000c66)2,em. 

24. · 2012 6)eJ 63(()2, ~nJ~lgp ffi)uemJ,cJC 

em a: eJ oamcruru (010)1 am em2,~1 \t:l6s1 
Q) mD ffi) (() elm) 1 am CL] 6) lfb S 2, elm) (\j@l ()u 

Q) am ffi) (() 0 ill an.ol em cJO c66)U (0 GnSU ~ (U)U m'l Ql 0 ill 

m am cfu 1 CQ) Ql 0 ill c66) 0 6ffiu . .2J 6 ciJ 6) s 

mamem1mJlcnld38J,Cffi®u. 

3 I 5 6' 4 

! Judge II 1 4 5 6 ·I 3 
----~------~----~------~------L--

Lc:d the correlation between the 

t\<:} ~udgements. (4) 

ro6Yl"i ggcwv~1QlOCOJ,6)S oJlwlmJlaii\ rucm1§6~ 

crunD6YlJ m.uo em@GnS@rn,J,em. (4) 

K-33 7 (P.T.O~) 



25. Ashna made the following 

statement. 

"Arithmetic mean 1s always 

between the median and the mode." 

Correct the statement if it is 

wrong. (1) 

26. In a survey, the monthly income of 

230 families iri a village was found 

as follows : 

27. You are asked to prepare a project 

report on the functioning of 

Self-Help Groups (SHGs) in Kerala. 

If so: 

a) ·write two target groups from 

whom the data is to be collected. 

b) Write the two types of data 

collection for this purpose. 

K-33 
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2!l. (lj@rdfm CQJ66)S LnJm.J"cmorum ®06)':? 

6)cfuOS6c006nnt,. 

"(fl)QlOmJlai QlOWJo 04)~<J::j0':P6o 

Ql ow J ce:, @'OJ1 m 6 o 6W nn ie.J ce:, @'OJ1 nn 6 o 

g)2S<Wle.Jo<Wlro1c002,o" 

" g)2'D L nJ cro em b rum <Wl am 6) em Ru g1_ 6) 6115 93o 1 afiJ 

cm1ro6@'0J6cfu. (1) 

2 6. 63ro6 w .)nD®m1 am ms@'OJ1 CQ) crufil ~ <)d <Wl afiJ 2 3 0 

cfu656o6W6m3§_16)e.J 0J(l)6Ql0ffio ®06)':PnJOCQJ2,o 

LnJcfuOroo cfu6)6115@'0J1. 

2 7. ~ cfu (() §1 @'OJ16) eJ (f1) J CQ) 0 (f1) nD 0 CQ) 

cruone.J 6m3§66)S L nJ fiJ@'Olm6m36) §. cru o 6W m.LJlsl 
63(()6 6)LnJ0gf6ofuS o1~<J::]Of6§ ll5lCRJOOOcOOO® 

cril6llB~§_OS (lj@OJCJ()J6)<J::]S6m)6· C'4)93o1af0: 

a) . g)2'D (lj@OJCJ()J@'OJ1moCQJ1 nJom 

ru1 <li W CQJ Ql OcOO 6flS C1{B 6) em 93o 1 eJ 2,0 ro 6115u 

LWJ<J::l6cfuci0 04)':P2,®J,cfu. 

b) B@'OJ 

(2) 

2.76.800 


